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Tableau 5
Revenu en milliers de $
< 20 20 - 35 35 - 60 > 60

-3 10% 14% 12% 12%
-2 6% 8% 8% 5%
-1 . 4% 2% 3% 4%
0 - Cela depend 9% 1% 6% 4%
+1 5% 3% 4% 7%
+2 4% 5% 2% 3%
+3 6% 2% 3% 2%
+4 3% 3% 3% 2%
+5 - Totallement

d'accord 6% 6% 2% 2%
Canada poursuivre ses

propres politiques
-5 Total. en d€saccord 6% 7% 6% 9%
-4 3% 3% 4% 3%
-3 5% 5% 6% 4%
-2 2% 3% 4% 3%
-1 _ 5% 4% 3% 5%
0 - Cela depend 12% 17% 19% 13%
+1 13% 10% 7% 9%
+2 1% 16% 10% 13%
+3 13% 11% 16% 16%
+4 1% 17% 13% 15%
+5 - Totallement

d'accord 19% 9% 12% 10%

Le Canada, un sondage national -- 1990

= 102 =



